
1. (·¤) ÖæÚUÌ×æˆææ ·¤çßÌæ ·¤æ ¥æàæØ çÜ¹Ìð ãéU°
ÕÌæ§° ç·¤ §â ·¤çßÌæ ·ð¤ ¥ÙéâæÚU ÖæÚUÌ ·¤è
ßÌü×æÙ çSÍçÌ ×ð´ @Øæ ÂçÚUßÌüÙ ãéU¥æ ãñU?

¥Íßæ

ÖæÚUÌ×æÌæ ·¤çßÌæ ·ð¤ â¢Îðàæ ·¤ô SÂcÅU ·¤ÚUÌð
ãéU° çÜç¹° ç·¤ ·¤çß Ùð ÒÂýßæçâÙèÓ ç·¤âð
¥õÚU @Øô´ ·¤ãUæ?

ED-2041
B.Com. (Part-III) Examination, 2021

FOUNDATION COURSE

Paper - I

Hindi Language

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 26

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð ÂýàÙæð´ ·ð¤ ¥¢·¤ ©UÙ·ð¤
ÎæçãUÙè ¥æðÚU ¥¢ç·¤Ì ãñ´ UÐ
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(¹) ·¤ÍÙ àæñÜè ·ð¤ Âý·¤æÚUô´ ·¤æ â¢ÿæðÂ ×ð´ ©UËÜð¹
·¤ÚUÌð ãéU°, ÃØæBØæˆ×·¤ àæñÜè ·¤è çßàæðáÌæ°¡
çÜç¹°Ð

¥Íßæ

×êËØæ¢·¤Ù ÂÚU·¤ àæñÜè ·¤è çßàæðáÌæ°¡ ¥õÚU
©UÎæãUÚU‡æ çÜç¹°Ð

2. (·¤) ÕðÜæ ·¤æ ¿çÚU˜æ-ç¿˜æ‡æ ·¤èçÁ°Ð

¥Íßæ

âê¹è ÇUæÜè °·¤æ¢·¤è ·¤æ âæÚUæ¢àæ çÜç¹°Ð

(¹) ·¤æÜÕôÏ·¤ ¥Íßæ çÎàææÕôÏ·¤ â¢ÚU¿Ùæ¥ô´ ·ð¤
âæÌ ©UÎæãUÚU‡æ ÎðÌð ãéU° ßæ@Ø ×ð´ ÂýØô»
·¤èçÁ°Ð

3. (·¤) ßâèØÌ ·¤ãUæÙè ×ð´ ç¿ç˜æÌ â×SØæ¥ô´ ·¤æ
ß‡æüÙ ¥ÂÙð àæµÎô´ ×ð´ ·¤èçÁ°Ð

¥Íßæ

ßâèØÌ ·¤ãUæÙè ·ð¤ ¥æÏæÚU ÂÚU ¥ÂÙè ÖæÖè
·ð¤ ÂýçÌ ãUÚUèàæ ·ð¤ çß¿æÚU SÂcÅU ·¤èçÁ°Ð

(¹) ÂçÚUÂ˜æ @Øæ ãñU? §â·¤è çßàæðáÌæ°¡ ¥õÚU
©UÎæãUÚU‡æ çÜç¹°Ð

¥Íßæ

¥çÏâê¿Ùæ âð @Øæ ¥çÖÂýæØ ãñU? ©UÎæãUÚU‡æ
âçãUÌ â×Ûææ§°Ð

( 2 )
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( 3 )

DRG_1_(3) 100

4. (·¤) ÖæÚUÌèØ ¥õÚU ØêÚUôÂèØ çß™ææÙ ×ð´ ×êÜ ¥¢ÌÚU
ÕÌæÌð ãéU° ãUÆUØô» ¥õÚU ÚUæÁØô» ÂÚU Âý·¤æàæ
ÇUæçÜ°Ð

¥Íßæ

Øô» ·¤è àæç@ÌØô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

(¹) âAôÌ Öæáæ ¥ôÚU ÜÿØ Öæáæ ·¤ô ©UÎæãUÚU‡æ
âçãUÌ â×Ûææ§°Ð

¥Íßæ

¥ÙéßæÎ ·¤è Âýç·ý¤Øæ çÜç¹°Ð

5. (·¤) ÒÒÖæÚUÌ Ùð °·¤ ©UÖÚUÌè ÖæÚUÌèØ â¢S·ë¤çÌ ·¤è
çßçßÏÌæ ·ð¤ ×ôçÌØô´ ·¤ô °·¤âê˜æ ×ð´ çÂÚUôØæÐÓÓ
§â ·¤ÍÙ ·¤è â×èÿææ ·¤ÚUÌð ãéU° ÕÌæ§° ç·¤
ÖæÚUÌ ×ð´ Ï×ü çÙÚUÂðÿæÌæ ·¤æ SßM¤Â @Øæ ãñU?

¥Íßæ

Ùßæ¿æÚU ç·¤âð ·¤ãUÌð ãñ´U? çßSÌæÚUÂêßü·¤
â×Ûææ§°Ð

(¹) ÂýçÌßðÎÙ ·¤è ÂçÚUÖæáæ çÜ¹Ìð ãéU° ©Uâ·ð¤
çßçÖ‹Ù Âý·¤æÚUô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

¥Íßæ

çÙ×‹˜æ‡æ Â˜æ ·ð¤ Âý·¤æÚU ÕÌæÌð ãéU° ç·¤âè °·¤
çÙ×‹˜æ‡æ Â˜æ ·¤æ ©UÎæãUÚU‡æ çÜç¹°Ð

———
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§·¤æ§ü / Unit-I

1. çßîæèØ çßßÚU‡ææð´ ·ð¤ çÙßü¿Ù âð ¥æÂ @Øæ â×ÛæÌð
ãñ´U? çßßÚU‡ææð´ ·ð¤ çÙßü¿Ù ãðUÌé ·¤æñÙ-âè Âýç·ý¤Øæ°¢
¥ÂÙæØè ÁæÌè ãñU?

ED-2046
B.Com. (Part-III) Examination, 2021

Compulsory

Group - II

Paper - II

Management Accounting

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 25

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.

DRG_2_(11) (Turn Over)
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What do you mean by interpretation of
financial statements ? What procedures are to
be adopted in interpreting the statements.

¥Íßæ / OR

çÙ`Ù â×¢·¤æð °ß¢ ¥ÙéÂæÌæð ´ âð ·¢¤ÂÙè ¥çÏçÙØ×,
w®vx ·¤è ¥Ùéâê¿è III ·ð¤ ¥ÙéâæÚU ç¿_ïUæ °ß¢ ÜæÖ-
ãUæçÙ çßßÚU‡æ ÌñØæÚU ·¤èçÁ° Ñ

G
¥¢àæ Âê¡Áè |,w®,®®®

·¤æØüàæèÜ Âê¡Áè w,zw,®®®

ßñ´·¤ ¥æçÏ@Ø y®,®®®

çÎ¹æßÅUè â¢Âçîæ ·¤æð§ü ÙãUè´ ãñUÐ ¿æÜê â¢Âçîæ ×ð´
S·¤‹Ï ÃØæÂæÚUè·¤ ÂýæŒØ ¥æñÚU ÚUæð·¤Ç¸U ·ð¤ ¥çÌçÚU@Ì
·¤æð§ü â`Âçîæ ÙãUè´ ãñUÐ ¥¢çÌ× SÅUæò·¤ ÂýæÚ¢UçÖ·¤ SÅUæò·¤
âð w®' ¥çÏ·¤ ãñUÐ

¿æÜê ¥ÙéÂæÌ w.z

ÌÚUÜ ¥ÙéÂæÌ v.z

Sßæç×ˆß ¥ÌéÂæÌ ®.|

â·¤Ü ÜæÖ ¥ÙéÂæÌ w®'

S·¢¤Ï ¥æßÌü y
ÃØæÂæçÚU·¤ ÂýæŒØ ¥æßÌü x{.z çÎÙ

àæéh ÜæÖ ·¤è ¿é·¤Ìæ Âê¡Áè ÂÚU ¥ÙéÂæÌ v®'

( 2 )
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( 3 )

From the following figures and ratios make
out the Balance Sheet and statement of
profit & loss as per schedule III of companies
Act, 2013 :

(a) Share Capital 7,20,000

(b) Working Capital 2,52,000

(c) Bank Overdraft 40,000

There is no fictitious assets. In current assets
there are no assets other than inventories,
trade receivables and cash. Closing inventory
is 20% higher than the opening inventory.

(i) Current Ratio 2.5

(ii) Liquid Ratio 1.5

(iii) Proprietary Ratio

(fixed ratio + proprietary fund) 0.7

(iv) Gross Profit Ratio 20%

(v) Inventory turnover 4

(vi) Trade Receivables turnover 36.5 days

(vii) Net profit to paid-up capital 10%

§·¤æ§ü / Unit-II

2. ·¤æðá ÂýßæãU çßßÚU‡æ ·ð¤ â¢Õ¢Ï ×ð´ ·¤æðá °ß¢ ÂýßæãU
·¤æð â×Ûææ§°Ð ·¤æðá ÂýßæãU ·ñ¤âð ÌñØæÚU ç·¤Øæ ÁæÌæ
ãñU?

DRG_2_(11) (Turn Over)



( 4 )

Define the term fund and flow in respect of
a fund flow statement. How is a fund flow
statement prepared ?

¥Íßæ / OR

çÙ`ÙçÜç¹Ì çßßÚU‡æ âð ·¤æðá ÂýßæãU çßßÚU‡æ ÌñØæÚU
·¤èçÁ° Ñ

â`ÂçîæØæ¡ w®v~ w®w®
(G) (G)

ÚUæð·¤Ç¸U w,z®® v,®®®

ÎðÙÎæÚU v|,®®® w®,®®®

ÚUãUçÌØæ vw,z®® vv,®®®

Öêç× vz,®®® w®,®®®

ÖßÙ w®,®®® ww,z®®

×àæèÙ y®,®®® yx,®®®

v,®|,®®® v,v|,z®®

ÎæçØˆß

ÜðÙÎæÚU v®,®®® vw,®®®

ÎðØ çÕÜ },®®® },z®®

Õñ´·¤ «¤‡æ vz,®®® ww,z®®

Âê¡Áè |y,®®® |y,z®®

v,®|,®®® v,v|,z®®

DRG_2_(11) (Continued)



ßáü ·ð¤ ÎæñÚUæÙ ©UÂ·ý¤×è mæÚUæ ÃØç@Ì»Ì ÂýØæð» ·ð¤
çÜ° G v},®®® ¥æãUçÚUÌ ç·¤° »°Ð ×àæèÙ ÂÚU OïUæâ
·ð¤ çÜ° ÂýæßÏæÙ xv ×æ¿ü, w®v~ ·¤æð G vz,®®®
°ß¢ xv ×æ¿ü w®w® ·¤æð G v~,z®® ç·¤Øæ »ØæÐ

From the following particulars prepare funds-
flow statement :

Assets 2019 2020
(G) (G)

Cash 2,500 1,000

Debtors 17,000 20,000

Stock 12,500 11,000

Land 15,000 20,000

Building 20,000 22,500

Machinery 40,000 43,000

1,07,000 1,17,500

Liabilities

Creditors 10,000 12,000

Bills Payable 8,000 8,500

Bank Loan 15,000 22,500

Capital 74,000 74,500

1,07,000 1,17,500

( 5 )

DRG_2_(11) (Turn Over)



During the year drawing by the proprietor for
personal use amounted to G 18,000 provision
for depreciation on machinery stood at
G 15,000 on 31st March, 2019 and G 19,500
on 31st March, 2020.

§·¤æ§ü / Unit-III

3. â× çß‘ÀðUÎ çÕ¢Îé @Øæ ãñU? §â·¤è »‡æÙæ ·ñ¤âð ·¤è
ÁæÌè ãñU?

What is B.E.P. ? How it is calculated ?

¥Íßæ / OR

°·¤ ßSÌé ·ð¤ ©UˆÂæÎÙ ×ð´ ·¤æØüÚUÌ °·¤ Èñ¤@ÅþUè È¤ÚUßÚUè,
w®v~ ×æãU ·ð¤ çÜØð çÙ`ÙçÜç¹Ì âê¿Ùæ°¡ ÂýSÌéÌ
·¤ÚUÌè ãñ´ U Ñ

âæ×»ýè ·¤è Üæ»Ì G v,w®,®®®

Ÿæ× Üæ»Ì G w,y®,®®®

SÍæØè ©ÂçÚUÃØØ G v,w®,®®®

ÂçÚUßÌüÙàæèÜ ©ÂçÚUÃØØ G {®,®®®

ÂýçÌ §·¤æ§ü çÕý·¤è ×êËØ G z®

©UˆÂæçÎÌ §·¤æ§Øæ¢ vw®®®

( 6 )
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©UÂÜµÏ ßÌü×æÙ ÿæ×Ìæ ÂÚU w®®®® §·¤æ§Øæ¢ ÂýçÌ×æãU
©UˆÂæçÎÌ ·¤è Áæ â·¤Ìè ãñ´ UÐ È¤×ü ·ð¤ Âæâ °·¤
»ýæãU·¤ mæÚUæ z®®® ¥çÌçÚU@Ì §·¤æ§Øæð´ ·¤æð G y®
ÂýçÌ §·¤æ§ü ·¤è ÎÚU âð ·ý¤Ø ·¤æ ÂýSÌæß ãñUÐ °ðâæ
¥Ùé×æÙ ãñU ç·¤ §â ÂýSÌæß ·¤è Sßè·ë¤çÌ mæÚUæ âÖè
©UˆÂæçÎÌ §·¤æ§Øæð´ ÂÚU âæ×»ýè Üæ»Ì ×ð´ G v ÂýçÌ
§·¤æ§ü Õ¿Ì ãUæð»èÐ ÂÚU‹Ìé SÍæØè ©UÂçÚUÃØØ ×ð´
G xz,®®® ·¤æð ßëçh ãUæð ÁæØð»èÐ ØãU Öè ¥Ùé×æÙ
ãñU ç·¤ ·¤æØü ÿæ×Ìæ ×ð´ ¥æ×ÌæñÚU ÂÚU w' ·¤è ·¤×è
¥æØð»è ¥æñÚU ÂçÚU‡ææ× SßM¤Â Ÿæ× Üæ»Ì ÌÍæ
ÂçÚUßÌüÙàæèÜ ©UÂçÚUÃØØ ©Uâè ¥ÙéÂæÌ ×ð´ ÕÉ¸U ÁæØð»èÐ

¥ÂÙè â¢SÌéçÌ ÎðÌð ãéU° ç·¤ ÂýSÌæß ·¤æð Sßè·ë¤çÌ
ÂýÎæÙ ·¤è ÁæÙè ¿æçãUØð Øæ ÙãUè´Ð ÂýÕ¢Ï ·ð¤ çÜ°
°·¤ ÂýçÌßðÎÙ ÌñØæÚU ·¤èçÁ°Ð

A factory manufacturing a product presents
the following information for the month of
february, 2019 :

Cost of materials G 1,20,000

Labour cost G 2,40,000

Fixed overheads G 1,20,000

Variable overheads G 60,000

Selling price per unit G 50

Units produced 12000

( 7 )
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From the available present capacity 20000
units per month can be produced. The firms
has an offer from a customer to buy 5000
additional units a price of G 40 per unit. It is
expected that by accepting this offer, there
will be a saving of G 1 per unit in the cost of
materials on all units manufactured but fixed
overheads will increase by G 35,000. It is also
anticipated that the over all efficiency will
decrease by 2% on all production and
consequently labour cost and variable
overheads will increase accordingly.

Draft a report to the management giving your
recommendation as to whether this offer
should be accepted.

§·¤æ§ü / Unit-IV

4. ÕÁÅUÚUè çÙØ¢˜æ‡æ @Øæ ãñU? §â·ð¤ SÍæÂÙ ·ð¤ çÜ°

©UÆUæØð ÁæÙð ßæÜð ¥æßàØ·¤ ·¤Î×æð´ ·¤è çßßð¿Ùæ

·¤èçÁ°Ð

What is Budgetary control ? Discuss the
necessary steps which are taken for its
installation.

¥Íßæ / OR

( 8 )
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w®w® ·ð¤ ×æãU ÁÙßÚUè ·ð¤ çÜ° çÈ¤çÙ@â çÜ0 ·¤æ
çß·ý¤Ø ÕÁÅU çÙ`Ù ·¤æð ÎàææüÌæ ãñU Ñ

©UˆÂæÎÙ ×æ˜ææ çß·ý¤Ø ×êËØ ÂýçÌ ç·¤0»ýæ0
(G)

A wz®® ç·¤0»ýæ0 x

B vwz® ç·¤0»ýæ0 w

C w®®® ç·¤0»ýæ0 w.z

©Uâè ×æãU ×ð´ ßæSÌçß·¤ çÕ·ý¤è Íè Ñ

©UˆÂæÎ A w®®® ç·¤»ýæ0 G z,z®®

©UˆÂæÎ B v|z® ç·¤»ýæ0 G x~x|.z®

©UˆÂæÎ C ww®® ç·¤»ýæ0 G y,~z®

çß·ý¤Ø çß¿ÚU‡ææ¢àæ ·¤æ çßàÜðá‡æ ·¤èçÁ°Ð

The sales budget of Phinex Ltd. for the month
of January, 2020 indicates the following :

Product Qty Selling Price per kg.
(G)

A 2500 kg 3

B 1250 kg 2

C 2000 kg 2.5

( 9 )
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During the said month the actual sales were :

Product A 2000 kg for G 5,500

Product B 1750 kg for G 3937.50

Product C 2200 kg for G 4,950

Analyse the sales variances.

§·¤æ§ü / Unit-V

5. çß¿ÚU‡æ çßàÜðá‡æ @Øæ ãñU? @Øæ °·¤ ¥Ùé·ê¤Ü
çß¿ÚU‡æ âÎñß ãUè ÂçÚU¿æÜÙ ·é¤àæÜÌæ ·¤æ ÂýÌè·¤
ãñU?

What is variance analysis ? Is a favourable
variance always in indicator of efficiency in
operation ?

¥Íßæ / OR

z® §·¤æ§Øæð´ ·ð¤ çÙ×æü‡æ ãðUÌé Âý×æÂ ç×Ÿæ‡æ çÙ`Ù
Âý·¤æÚU ãñU Ñ

(a) z ç·¤»ýæ0 @ G }

(b) vz ç·¤»ýæ0 @ G y

ÁÙßÚUè ×æãU ·ð¤ °·¤ âŒÌæãU ·ð¤ |w®® §·¤æ§Øæð´ ·¤æ
çÙ×æü‡æ ãéU¥æ ¥æñÚU çÙ`Ù âæ×»ýè ÂýØé@Ì ãéU§ü Ñ

(a) {®® ç·¤»ýæ0 ÂýçÌ ç·¤0»ýæ0 G |

(b) w®® ç·¤»ýæ0 ÂýçÌ ç·¤0»ýæ0 G z

( 10 )
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âæ×»ýè Üæ»Ì çß¿ÚU‡æ ×êËØ, ×êËØ çß¿ÚU‡æ, ç×Ÿæ‡æ
çß¿ÚU‡æ ÌÍæ ©UˆÂæçÎÌ ×æ˜ææ çß¿ÚU‡æ ·¤è »‡æÙæ
·¤èçÁ°Ð

The standard mix for the production of 50
units is :

(a) 5 kg @ G 8

(b) 15 kg @ G 4

During a week in January 7200 units were
produced and materials used were :

(a) 600 kg @ G 7

(b) 200 kg @ G 5

Calculate material cost variance, price
variance, mix variance and yield variance.

———

( 11 )
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§·¤æ§ü / Unit-I

1. çßÂ‡æÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? ¥æÏéçÙ·¤ Á»Ì
×ð´ §Ù·ð¤ ·¤õÙ-·¤õÙ âð ·¤æØü ãñ´ U?

What do you mean by marketing ? What are
the functions of marketing in modern world ?

¥Íßæ / OR

ED-2049
B.Com. (Part-III) Examination, 2021

Optional

Group - B

MARKETING AREA

Paper - I

Principles of Marketing

Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.

DRG_3_(4) (Turn Over)
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çßÂ‡æÙ ÂØæüßÚU‡æ ·¤ô ÂýÖæçßÌ ·¤ÚUÙð ßæÜè ¥æ‹ÌçÚU·¤
ß ÕæãUÚUè àæç@ÌØô´ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð

Discuss internal and external factors/forces
affecting Marketing Environment.

§·¤æ§ü / Unit-II

2. ÕæÁæÚU çßÖç@Ì·¤ÚU‡æ âð ¥æÂ·¤æ @Øæ ¥æàæØ ãñU?
§â·ð¤ ©UgðàØ °ß¢ ¥æÏæÚU ÕÌæ§°Ð

What do you understand by Market
Segmentation ? Point out its objectives and
bases.

¥Íßæ / OR

·ý¤Ø ÂýðÚU‡ææ @Øæ ãñU? ·ý¤Ø ÂýðÚU‡ææ¥ô´ ·¤æ ß»èü·¤ÚU‡æ
·¤ÚU ©UÙ·¤è ÃØæBØæ ·¤èçÁ°Ð

What are Buying motives ? Classify and
explain Buying motives.

§·¤æ§ü / Unit-III

3. Õýæç‡Ç¢U» âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? Õýæç‡Ç¢U» ·ð¤
×ãUˆß ·¤ô â×Ûææ§°Ð

What do you understand by Branding ?
Explain the importance of Branding.

¥Íßæ / OR

( 2 )
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( 3 )

DRG_3_(4) (Turn Over)

°·¤ ©UˆÂæÎ ·¤è ·¤è×Ì çÙÏæüÚU‡æ ·ð¤ çÜ° ·¤õÙ-·¤õÙ
âè çßçÏØæ¢ ãñU? ¥æÂ ç·¤â·¤è çâÈ¤æçÚUàæ ·¤ÚðU»è
¥õÚU @Øô´?

What are the various methods of pricing of a
product ? Which will you recommend and
why ?

§·¤æ§ü / Unit-IV

4. Èé¤ÅU·¤ÚU çß·ý¤Ø ·ð¤ çßçÖ‹Ù ÌÚUè·¤ô´ ·¤ô ÕÌæ§°Ð
ÖæÚUÌ ×ð´ ·¤õÙ-âæ ÌÚUè·¤æ Üô·¤çÂýØ ãñU?

State the different types of Retailers. Which
type is popular in India ?

¥Íßæ / OR

ÒÒçßÂ‡æÙ ×æŠØ× ßð çßÌÚU‡æ ÁæÜ ãñ´U çÁÙ·ð¤ ×æŠØ×
âð ©UˆÂæÎ·¤ ßSÌé¥ô´ ·¤ô ÕæÁæÚU ·¤è ¥ôÚU ÂýßæçãUÌ
·¤ÚUÌð ãñ´UÐÓÓ SÂcÅU ·¤èçÁ°Ð

“Marketing channels are the distribution
network through which producer’s product
flow to the market.” Dicuss.

§·¤æ§ü / Unit-V

5. °·¤ ÂýÖæßè çß™ææÂÙ ·ð¤ Üÿæ‡æ SÂcÅU ·¤èçÁ°Ð

Clarify characteristics of an effective
advertisement.

¥Íßæ / OR



( 4 )

DRG_3_(4) 100

çßÂ‡æÙ ÂýßÌüÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? çßÂ‡æÙ
âð ÂýßÌüÙ ·¤æ ×ãUˆß â×Ûææ§°Ð

What do you understand by promotion in
marketing ? Explain the importance of
promotion in marketing.

———



Unit-I

1. (a) What are the advantages of Information
Technology ?

(b) What do you understand by deployment
of business ? Explain.

(c) Write short note on Convergence
technology.

ED-2051
B.Com. (Part-III) Examination, 2021

Optional

Group - C

COMMERCIAL AREA

Paper - I

Information Technology and its
Application in Business

Time : Three Hours] [Maximum Marks : 75

Note : Answer any two parts from each Unit. All
questions carry equal marks.

DRG_57_(2) (Turn Over)
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Unit-II

2. (a) Define Computer. Explain the block
diagram of computer.

(b) Write short note on BCA and Gray Code.

(c) What are the elements of computer ?
Explain CPU and its function.

Unit-III

3. (a) Explain ten shortcut commands in MS-
Word with example.

(b) What do you mean by Spreadsheet ?
Write its application in accounting.

(c) What are the advantages and
disadvantages of DBMS ?

Unit-IV

4. (a) What is EDI ? Explain with its features.

(b) Discuss basic standards of EDI.

(c) What are the advantages of EDI, explain
with example.

Unit-V

5. (a) Define Client/Server Computing and
Internet Protocol Suit on the Internet.

(b) Write short note on DNS.

(c) What are the applications of Internet ?
———

( 2 )
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 P. T. O.  

Roll No. ...................................  

ED–2011 

B. Com. (Part I/II/III) EXAMINATION, 2021 

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh iz’u vfuok;Z gSA iz’u Øekad 1 ij 25 vad o ‘ks”k 

izR;sd ij 10 vad gSA 

 All questions are compulsory. Question No. 1 carries 

25 marks and rest of the questions carry 10 marks 

each. 

1- fuEufyf[kr esa ls fdUgha ik¡p ij laf{kIr fVIif.k;k¡ fyf[k,A 

(i) ÅtkZ izokg 

(ii) ck<+ 

(iii) Hkw&L[kyu 

(iv) [kk| Ükà[kyk 

(v) /ofu iznw”k.k 

(vi) ekuo vf/kdkj laj{k.k 

(vii) vEy&o”kkZ 

(viii) oU;&izk.kh f’kdkj 
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Write short note on any five of the following : 

(i) Energy flow 

(ii) Floods 

(iii) Land-slides 

(iv) Food chain 

(v) Noise pollution 

(vi) Protection of Human Rights 

(vii) Acid Rain 

(viii) Poaching of wild animals 

bdkbZ&1 

(UNIT—1) 

2- ty lalk/ku ij fucU/k fyf[k,A 

Write an essay on Water Resources. 

vFkok 

(Or) 

vk/kqfud Ñf”k ds D;k izHkko gS \ foLrkj ls le>kb,A 

What are the effects of modern agriculture ? Describe 

elaborately. 

bdkbZ&2 

(UNIT—2) 

3- tyh; ikfjfLFkfrd ra= ij fucU/k fyf[k,A 

Write any essay on aquatic ecosystem. 

vFkok 

(Or) 

tSo&fofo/krk ij izdk’k Mkyrs gq, foLrkj ls blds egRo dks 

le>kb,A 



 [ 3 ] ED–2011 

 P. T. O. 

Describe the importance of Biodiversity highlighting it. 

bdkbZ&3 

(UNIT—3) 

4- Bksl vif’k”V izcU/ku ij ys[k fy[fk,A 

Write an essay on solid waste management. 

vFkok 

(Or) 

ßc<+rh ekuo tula[;k] la/kkfjr fodkl esa vojks/k mRiUu dj 

jgh gSAÞ bl okD; dks izekf.kr dhft,A 

“Increasing Human population is creating bordle in 

sustainable development.” Verify this statement. 

bdkbZ&4 

(UNIT—4) 

5- ekuo vf/kdkj ds vFkZ ,oa izdkj dks foLr`r :i ls le>kb,A 

Describe elaborately the meaning and kinds of Human 

Rights. 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) efgykvksa ds izfr HksnHkko fujkdj.k gsrq mik; 

(ii) cky vf/kdkj le>kSrk 

Write short notes on the following : 

(i) Measures for elimination of discrimination against 

women 
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(ii) Convention on child Rights. 

bdkbZ&5 

(UNIT—5) 

6- Hkkjrh; lafo/kku ds varxZr fn;s x;s ekSfyd vf/kdkj ij ys[k 

fyf[k,A 

Write an essay on fundamental rights under the 

constitution of India. 

vFkok 

(Or) 

ekuo vf/kdkj fdl izdkj Hkkjr esa ykxw fd;s x;s \ la{ksi esa 

le>kb,A 

How Human Rights enforcement was done in India. 

Explain briefly. 
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Roll No. ...................................  

ED–2042 

B. Com. (Part III) EXAMINATION, 2021 

(Foundation Course) 

Paper Second 

ENGLISH LANGUAGE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 26 

Note : Attempt all questions. 

1. Answer the following questions in about 200 words each 

(any three) :  5 each 

(a) What was the state of Indian economy when 

privatization was announced in India ? 

(b) Write summary of the essay ‘Democratic 

decentralisation’. 

(c) How does Vivekanada prove that spiritual ideas are 

not dying out rather they have just begun to grow’ ? 

(d) Write summary of the poem  

‘Three years she grew’. 

(e) Write a summary of the essay ‘Women and 

Development’. 

Unit—II 
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2. Write an essay on in about 300 words on any one of the 

following topics : 10 

(a) Environmental Issues 

(b) Role of media in democracy 

(c) The problem of unemployment 

Unit—III 

3. Make the precis of the following passage. Also suggest a 

suitable title :  10 

For children too there is no greater instrument of 

education than conversation they hear at home. It is unjust 

to them when nothing is spoken before them but trifles of 

dress, the gossip of the neighborhood, the cares of the 

household which press so heavily upon the parents, the 

follies and vanities of the world which are hardly 

apprehended by their innocent minds. They are naturally 

imitative and a great part of their character is derived 

from their parents. If there is no life or happiness in a 

house, the children of the house will be commonly dull 

and stupid; and if they never hear subjects rationally 

discussed, they will not learn to think or reason, if the 

world in which we live is allowed to pass unheeded,  they 

will be without interest, listless and unobservant. This 

home education which they acquire insensibly is as 

important as the mere formal work of the school and it is 

as much our duty to provide food for their minds as for 
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their bodies. They do not live by bread alone, but by every 

word that proceeds out of the mouth. 

Unit—IV 

4. (A) Read the following passage carefully and answer the 

questions given below : 5 

Once as a child Gandhiji stole a bit of gold for his 

brother to pay for the latter’s debt of twenty-five 

rupees. It was an innocent thing for a little boy to do, 

to save his brother from disgrace. But by doing so he 

had lost all peace of mind and he could not decide 

what amends he should make for the wrong that he 

had done. At last he decided to tell his father the 

whole truth. He wrote a letter to him, telling him all 

about the incident and promising that he would 

never steal again. He asked his father to punish him 

as severely as he wished and begged him not to feel 

pained about it anyway. As the father read that 

letter, tears began to roll down his cheeks. This left 

Gandhiji so devastated with shame and remorse, that 

he took a silent vow never to do an unrighteous deed 

again. He strove to be good and truthful ever after. 

Questions : 

(i) Why did Gandhiji steal gold ? 

(ii) What happened after Gandhi stole the gold ? 

(iii) Why did Gandhiji write letter to his father ? 

(iv) What promise did Gandhiji make to himself ? 

(v) Give opposite of the word : Truth, righteous 
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(B) Match the words in Column ‘A’ with their meanings 

in Column ‘B’ : 5 

         Column A          Column B 

(a) Levity (i) having a violent 

effect 

(b) Embarrassment (ii) bring down 

(c) Drastic (iii) confuse 

(d) Monopoly (iv) lack of respect 

(e) Dismantle (v) the sole right to 

deal in certain 

goods and services 

(C) (i) Give antonyms of :  

   action, stability 2 

(ii) Write one word for : 2 

  (a)  to speak or write on a thing at length ......... 

  (b)  the habit of talking about oneself .............. 

(iii) Make sentence :  1 

  to take advantage of  

Unit—V 

5. Do as directed (any twenty five) : 25 

(a) Add missing relative in the following sentences. 

(i)  His wife is a woman .......... loves a joke. 

(ii)  Allahabad ............ is on the Ganga, is a 

beautiful city. 

(b) Put into the reported speech : 

(iii)  I am going to countryside with my broher. 

(iv)  Shut the door after you.  
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 (accent/ascent) 

(c) Turn into assertive sentence : 

(v)  Oh! how delightful it is. 

(vi)  What a pretty sight the cows make when 

they return to the village for the night. 

(d) Supply the correct from of the verbs : 

(vii)  Physics (was, were) the subject he was 

specializing as a student. 

(viii)  He would not be able to .......... the speed.

 (maintain) 

(e) Insert suitable preposition : 

(ix) the accused was absolved ............ all blame. 

(x) She has been charged ........... theft. 

(xi) He is being kept ............. police custody. 

(f) Fill in the blanks by choosing the correct form of  

verb : 

(xii)  Just then, somebody ........... (was 

bumping/burped) into men quite rougly. 

(xiii)  He ......... (didn’t change/hadn’t changed) 

very much. 

(xiv)  Weather (change/changes) all the time. 

(g) Insert suitable articles where necessary. 

(xv)  ............ book on the shelf is ......... 

interesting one about .......... Gandhian 

philosophy. 
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(xvi)  Take ......... umbrella with you to ........... 

office. It may rain any time. 

(h) Use collective noun : 

(xvii) The ............. of the Indian Navy is very 

strong now. 

(xviii) He bought a large .............. of bananas. 

(i) Use correct question tag : 

(xix)  You are a very due person ........... 

(xx)  Vikramaditya was a great king and  

judge .......... 

(xxi)  Karan regrets that he has lost his taste for 

sweets. (Change into simple sentence) 

(j) Choose the correct word : 

(xxii) If you print that story, I will see you for 

........... (Libel, Slander) 

(xxiii) The majority of tinned food is ........ in 

vitamins. (deficient, defective) 

(k) Fill in the blanks with correct pronoun : 

(xxiv) It was .............., It was talking about.  

 (he/him) 

(xxv)  How can you talk to a man like ......(he/him) 

(xxvi) Please, tell the ............. (true).  

(Change the adjective to noun. 

(xxvii) I (always have) trouble with my car these 

days. (Supply suitable tense) 
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(xxviii) You must iron this dress for tonight. 

 (Change the voice. 

(xxix) He would have come ......... you had called 

him. (Supply if or unless) 

(xxx)  Rewrite the sentence using subordinating 

conjunctions : 

   (a)  In July the weather is warm and humid 

   (b) Ants leave on a wedding flight at this 

 time. 
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ED-2043

B.Com. (Part-III)
EXAMINATION, 2021

(Compulsory)

(Group–I)

INCOME TAX

(Paper First)
Time : Three Hours Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.

bdkbZ&1

Unit-1

1. (1) ^^vk;dj xr o"kZ dh vk; ij yxrk gSA** D;k vki blls

iw.kZr;k lger gSa\ ;fn ugha rks viokn crkb;sA 10

“Income Tax is charged on the income of the

previous year”. Do you fully agree with this

statement ? If not, what are the exceptions ?

(2) la{ksi esa ^^ekuk x;k djnkrk** ,oa ^^pwd esa djnkrk** dks

le>kb,A

Explain in brief  ‘Deemed Assessee’ and ‘Assessee in 

Default’.
vFkok
OR

(1) dj fu/kkZj.k o"kZ 2020-21 ds fy, Mr. X dh fuEu dj ;ksX;
vk;sa gSaµ

(i) yUnu esa dh xbZ lsokvksa ds fy, Hkkjr esa izkIr osru ls
vk; #0 80,000/- ¼x.kuk dh xbZ½

(ii) usiky esa fLFkr edku lEifÙk ls vk; Hkkjr esa izkIr dh
#0 10,000/-

(iii) ,d Hkkjrh; dEiuh ls ykHkkFkZ #0 30,000/-

(iv) vk; tks fd dksydkrk esa mikftZr dh xbZ ijUrq bZjku esa
izkIr dh xbZ #0 60,000/-

(v) ckaXykns'k esa cSad tek ij dekbZ xbZ rFkk ogha izkIr dh xbZ
C;kt #0 60,000/-

(vi) baXyS.M esa Ñf"k ls vk;] ;g lEiw.kZ vk; cPpksa dh f'k{kk
ij yUnu esa O;; dh xbZ #0 50,000/-

(vii)ikfdLrku esa LFkkfir O;kikj ds ykHk ogha ,d cSad esa tek
fd,] O;kikj Hkkjr ls fu;af=kr gS] #0 2,00,000/- ¼#0
2,00,000/- esa ls #0 1,00,000/- Hkkjr yk, x,½

vki Mr. X dh ldy vk; dh x.kuk dhft, ;fn ogµ

¼1½ fuoklh ¼2½ vlk/kkj.k fuoklh ¼3½ vfuoklh gSA

ED-2043 [ 2 ]

100 [P.T.O.]



The following are the Taxable Incomes of Mr. X for

the Assessment Year 2020-21 :–

(i) Income from salary received in India for services 

rendered in London Rs. 80,000 (computed)

(ii) Income from House Property in Nepal received

in India Rs. 10,000/-

(iii) Dividend from an Indian company Rs. 30,000.

(iv) Income accrued in Kolkata but received in Iran

Rs. 60,000.

(v) Interest earned and received in Bangladesh from

bank deposits there Rs. 60,000.

(vi) Income from agriculture in England, it is all

spent on the education of children in London Rs.

50,000.

(vii)Profits of business established in Pakistan

deposited in a bank there, this business is

controlled from India Rs. 2,00,000/- (Out of

Rs. 2,00,000/- a sum of Rs. 1,00,000/- is remitted 

to India).

Compute the Gross Total Income of Mr. X if he

is :

(a) Resident (b) Not ordinarily resident (c) Non-

Resident.

(2) fuEu fooj.k ds vk/kkj ij dj fu/kkZj.k o"kZ 2020-21 ds fy,

fe0 jkgqy ds dj nkf;Ro dh x.kuk dhft,µ 5

¼v½ d`f"k vk;    #0 86,000/- 

¼c½ jcj ds fuekZ.k ls vk; #0 6,44,000/-

Compute the tax liability of Mr. Rahul on the basis of

following particulars for the Assessment Year

2020-21 :

(a) Agriculture Income Rs. 86,000/-

(b) Income from Rubber 

manufacturing Rs. 6,44,000/-

bdkbZ&2
Unit-2

2. Jh vCnqy jghe ,d dkj[kkus esa 1 tuojh 2010 ls
12000&1000&24000 #0 osrueku ij fu;qDr gqvkA 1 flrEcj 
2019 dks O;kikj cUn gksus ds dkj.k NaVuh dh xbZ rFkk mudh
lsok,¡ lekIr dj nh xbZa vkSj mlus vius fu;ksDrk ls vkS|ksfxd 
fookn vf/kfu;e ds vUrxZr {kfriwfrZ ds :i esa 2,00,000/-

#0 izkIr dh rFkk xzsP;wVh Hkqxrku vf/kfu;e 1972 vUrxZr
1,50,000/- xzsP;wVh izkIr dhA mls izfro"kZ 30 fnu dk vftZr
vodk'k ysus dk vf/kdkj FkkA lsok lekIr gksus ds le; mls
08 ekg ds vftZr vodk'k ds fy, 1,68,000/- #0 dk osru
izkIr gqvkA 01 fnlEcj 2019 dks mlus 30,000/- #0 izfrekg 
dh nwljh ukSdjh izkIr dj yhA vius fjgk;'kh edku ds lq/kkj
ds fy, mlus vius fu;ksDrk ls 01 Qjojh] 2020 dks 04 ekg
dk osru vfxze fy;k rFkk 20,000/- dk _.k fy;kA

;g ekurs gq, fd osru vxys ekg dh igyh frfFk dks ns; gksrk

gS] dj fu/kkZj.k o"kZ 2020-21 ds fy, mldh osru 'kh"kZd dh

dj ;ksX; vk; dh x.kuk dhft,A 15
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Mr. Abdul Rahim was appointed in a factory on 01st

January 2010 in the pay scale of Rs. 12,000-1000-

24,000. On 1st September 2019 his services were

terminated at the time of retrenchment on account of

closure of business and he received a compensation

of Rs. 2,00,000/- from his employer under the

Industrial Disputes Act and he received also gratuity

Rs. 1,50,000/- under the Payment of Gratuity Act,

1972. He was entitled to avail earned leave of 30 days 

each year. At the time of termination of his service,

he was also paid Rs. 1,68,000/- for 08 months earned

leave not availed of by him during the period of

service. On 01st December 2019 he got another

appointment on a monthly salary of Rs. 30,000/-. On

01st February 2020 in order to meet the expenses for

repair of his home, he received an advance of 04

month’s salary and also took a loan of Rs. 20,000/-

from his employer for the purpose.

Determine his taxable income under the head

‘Salaries’ for the assessment year 2020-21 assuming

that the salary is due on the first of the next month.
vFkok

OR

A ,d vkoklh x`g lEifÙk dk Lokeh gSA blesa nks leku ;wfuVsa
gSaµ ;wfuV&I rFkk ;wfuV&II] ;wfuV&I esa A Lo;a vkSj mlds

ifjokj ds yksx jg jgs gSa rFkk ;wfuV&II dks fdjk;s ij ns j[kk gSA
¼fdjk;k 7,000 #0 izfrekg gSA ;g ;wfuV ,d eghus ds fy,
[kkyh iM+h jgh ftl nkSjku ;g mlus Lo;a jgus ds dke esa yh½
lEifÙk dk uxjikfydk ewY; 1,25,000 #0 gSA ekud fdjk;k
1,35,000 #0 gS] mfpr fdjk;k 1,50,000 #0 gSA uxj
ikfydk dj 12% dh nj ls ¼uxjikfydk ewY; ij½ yxk;k x;k 
gS ftls A us ns fn;k gSA fiNys o"kZ 2019-20 ds fy, vU;
[kpksZa esa ejEer 5,000 #0 ] chek ij 6,000 #0 'kkfey gSaA A
us 01.07.2016 dks LIC ls 12% izfro"kZ dh nj ls 8,00,000

#0 lEifÙk fuekZ.k ds fy, m/kkj fy;s FksA ?kj dk fuekZ.k dk;Z
30 twu 2018 dks iwjk gks x;k Fkk iwjk _.k vHkh vnÙk gSA 

feLVj A dh vk; dk fu/kkZj.k 2020-21 ds fy, vfHkdyu

,slk ekudj dhft, fd A dh vU; lzksrksa ls vk;

2,00,000 #0 gSA

A owns a residential house property. It has two

identical units– Unit-I and Unit-II. While Unit-I is

self occupied by A and his family members, Unit-II is 

let out (rent being Rs. 7,000/- per month, this unit

remained vacant for one month during which it was

self occupied). Municipal value of the property is Rs.

1,25,000. Standard rent is Rs. 1,35,000 and fair rent is 

Rs. 1,50,000. Municipal Tax is imposed @ 12% (on

Municipal value) which is paid by A. Other expenses

for the previous year 2019-20 being repair Rs.

5,000/-, insurance Rs. 6,000.
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A borrowed Rs. 8,00,000 on 01.07.2016 from LIC @

12% p.a. to construct the property. Construction of

the house was completed on June 30, 2018.  The

entire loan is still unpaid.

Compute the income of Mr. A for the assessment year 

2020-21. On the assumption that income of A from

other sources is Rs. 2,00,000/-.

bdkbZ&3

Unit-3

3. MkW0 egs'k ,d fpfdRld gSA viuh Lo;a dh iszfDVl ds
vfrfjDr og ,d futh vLirky esa v)Zdky fpfdRld Hkh gS
tgk¡ ls mUgsa ekfld ikfjJfed Hkh feyrk gSA og XYZ Co.

Ltd. esa ijke'kZ fpfdRld Hkh gS tgk¡ ls mls ekfld Re tainer

fee feyrh gSA

MkWDVj viuh izkfIr ,oa Hkqxrku dk fjdkMZ j[krk gS rFkk 31

ekpZ 2020 dks lekIr gksus okys o"kZ ds fy, fuEu lwpuk

miyC/k gSaµ

izkfIr;k¡µ

ijke'kZ 'kqYd izkIr 2,60,000/-

futh vLirky ls ldy ikfjJfed 1,34,000/-

XYZ Co. Ltd. ls Re tainer fee 60,000/-

cSad esa LFkk;h tek ij C;kt ¼jk"Vªh;Ñr cSad½ 13,000/-

Hkqxrkuµ

Dyhfud dk fdjk;k rFkk fctyh O;;       12,000/-

VsyhQksu O;;          2,400/-

eqnz.k ,oa LVs'kujh            500/-

dkj ds j[k&j[kko ds [kpsZ       12,000/-

Dyhfud lgk;d dh etnwjh         3,600/-

Mªkboj dk osru          3,600/-

thou chek izhfe;e          2,400/-

Dyhfud dh dkj rFkk QuhZpj dk 01.04.2019 dks Ðkflr

ewY; 25,000/- rFkk 2,000/- #0 Øe'k% Fkk] dkj rFkk VsyhQksu 

dk 20% iz;ksx O;fDrxr rFkk futh dk;ksZa ds fy, Fkk dkj ij

Ðkl dk vk;kstu 15% rFkk QuhZpj ij 10% dh nj ls djuk

gSA

dj fu/kkZj.k o"kZ 2020-21 ds fy, MkWDVj dh ldy dqy vk;

dh x.kuk dhft,A 15

Dr. Mahesh is a medical practitioner. Besides his

own practice, he works as a part-time physician in a

private hospital for which he receives a monthly

remuneration.

He is also a consultant physician of XYZ Ltd. Co. on 

a monthly retainer fees.
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The doctor maintains a record of his receipts and

payments and for the year ended 31st March, 2020

the following information is abstracted there from.

Receipts :

Consultation fees 2,60,000

Gross remuneration from private hospital 1,34,000

Retainer fees from XYZ Ltd. Co. 60,000

Interest on Bank fixed deposit 13,000

(Nationalised bank)

Payments :

Rent & Electricity charges for clinic 12,000

Telephone charges 2,400

Printing and Stationery 500

Car Maintenance expenses 12,000

Wages of clinical assistant 3,600

Driver’s salary 3,600

Life Insurance Premium 2,400

The written down value of car and furniture at the

clinic as on 01.04.2019 are noted to be Rs. 25,000 and 

Rs. 2,000 respectively, 20% of the use of the car and

telephone is attributable to personal and private

purposes. Provide for depreciation on car @ 15% and 

furniture @ 10%.

Compute the gross total income of the doctor for the

assessment year 2020-21.

vFkok
OR

feLVj fot; us viuh dqy lEifÙk;k¡ o"kZ 01.04.2019 ls

31.03.2020 ds nkSjku cspha tks fuEu izdkj ls gSaµ

¼v½ vkHkw"k.k] ykxr 80,000 #0 ¼tks twu 2017 esa izkIr fd,½ ebZ

2019 esa 1,00,000 #0 esa csps x,A

¼c½ dksydkrk esa jgus ds mn~ns'; ls fdjk;s ij mBk;k gqvk edku

31.10.2019 dks 14,00,000 #0 esa cspkA 01.04.2001 dks

mfpr cktkj ewY; 3,00,000 #0A 2009-10 esa mlds lq/kkj

ij ykxr 29,600 #0 gLrkarj.k O;; 25,000 #0 gSA

¼l½ ?kjsyw QuhZpj 2009 esa ftldh ykxr 14,000 #0 Fkh ekpZ

2020 esa 26,000 #0 esa cspkA

¼n½ dkj 01.12.2019 dks 45,000 #0 esa csph ftldk viysf[kr

ewY; 01.04.2019 dks 38,000 #0 FkkA

¼;½ 01.01.2020 dks Lo;a dh d`f"k Hkwfe 8,00,000 #0 esa ,d

vf/kfu;e ds vUrxZr vfuok;Z :i ls vf/kxf̀gr dj yh xbZ

ftldh 2003-04 esa ykxr 65,400 #0 FkhA

mlds dj ;ksX; iw¡th ykHk dh x.kuk dhft,A ykxr LQhfr

lwpdkad 2001-02 esa 100, 2003-04 esa 109, 2009-10 esa

148 vkSj 2019-20 esa 289 gSA
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Mr. Vijay sold some of his property during the year

01.04.2019 to 31.03.2020 as under :

(a) Jewellery costing Rs. 80,000 (which was accrued in

June 2017) was sold for Rs. 1,00,000 in May 2019.

(b) House at Kolkata, let out for residential purposes. Its

sale price on 31.10.2019 is Rs. 14,00,000. Fair

market value on 01.04.2001 Rs. 3,00,000. Cost of

improvement made during 2009-10 Rs. 29,600.

Expenses on transfer are Rs. 25,000.

(c) Household furniture costing Rs. 14,000 in 2009 was

sold in March, 2020 for Rs. 26,000.

(d) Car was sold on 01.12.2019 for Rs. 45,000, its

written down value on 01.04.2019 was Rs. 38,000.

(e) Self cultivated land was compulsorily acquired under 

law for Rs. 8,00,000 on 01.01.2020 and its cost in

2003-04 was Rs. 65,400.

Compute the taxable capital gains. Cost inflation

indices as 2001-02-100, 2003-04-109, 2009-10-148

and 2019-20-289.

bdkbZ&4
Unit-4

4. Hkkjr ds fuoklh feLVj ;kno dj fu/kkZj.k o"kZ 2020-21 ds
fy, viuh vk; dk fuEu fooj.k izLrqr djrs gSaµ

(1) fdjk;s ij mBk;s gq, edku ls vk; ¼x.kuk dh xbZ½ 9500

(2) jsfM;ks ds O;kikj ls ykHk 19600

(3) ,d QeZ ls C;kt dh vk; 1800

(4) lV~Vs ls vk; 1900

(5) vYidkyhu iw¡th ykHk 3200

(6) nh?kZdkyhu iw¡th ykHk 1400

fuEufyf[kr en iwoZ dj fu/kkZj.k o"kZ 2019-20 ls vkxs yk;s

x;s gSaµ

(1) jsfM;ks ds O;kikj dh gkfu 4600

(2) v'kksf/kr Ðkl 1000

(3) vYidkyhu iw¡thxr gkfu 2015-16 o"kZ ls 4100

(4) nh?kZdkyhu iw¡thxr gkfu 2016-17 o"kZ ls 3950

(5) edku lEifÙk ls gkfu 3000

(6) lV~Vs ls gkfu 3200

pkyw o"kZ dk Ðkl 500 #0 gSA vkidks mudh ldy dqy vk;

dh x.kuk djuh gS rFkk gkfu;ksa dks vkxs ys tkus ds laca/k esa

fØ;k djuh gSA 15

Mr. Yadav a resident of India submit the following

particulars of his income for the assessment year

2020-21 :

(1) Income from house let out (computed) 9500

(2) Profit from Radio business 19600
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(3) Income of interest from a firm 1800

(4) Speculation income 1900

(5) Short term capital gains 3200

(6) Long term capital gains 1400

The following items have been brought forward from 

the preceding assessment year 2019-20 :

(1) Loss from Radio business 4600

(2) Unabsorbed depreciation 1000

(3) Short term capital loss (year 2015-16) 4100

(4) Long term capital loss (year 2016-17) 3950

(5) Loss from house property 3000

(6) Speculation loss 3200

Current year depreciation is Rs. 500.

You are required to compute his gross total income

and deal with the carry forward of losses.

vFkok
OR

fuEufyf[kr fooj.kksa ls dj fu/kkZj.k o"kZ 2020-21 ds fy,
feLVj v{k; }kjk ns; vk;dj dh x.kuk dhft,µ

(1) osru ¼x.kuk dh xbZ½ 5,00,000

(2) edku lEifÙk dk fdjk;k 28,000

(3) nh?kZdkyhu iw¡th ykHk 1,42,000

(4) cSad cpr [kkrs dk C;kt 9,500

(5) 'kq) Ñf"k vk; 20,000

(6) ykVjh ls thr 15,000

(7) thou chek izhfe;e dk Hkqxrku 14,000

(8) izekf.kr izksfoMsUV Q.M esa va'knku 52,000

(9) fpfdRlk chek izhfe;e dk pSd }kjk Hkqxrku 11,000

(10) iz/kkuea=kh jk"Vªh; lgk;rk dks"k esa pSd }kjk nku 10,000

From the following particulars calculate tax payable

by Mr. Akshaya for the assessment year 2020-21 :

(1) Salary (computed) 5,00,000

(2) Rent from House Property 28,000

(3) Long term capital gains 1,42,000

(4) Interest from bank saving account 9,500

(5) Net agricultural income 20,000

(6) Winning from Lottery 15,000

(7) Payment of life insurance premium 14,000

(8) Contribution to recognised provident fund 52,000

(9) Premium paid by cheque on mediclaim 

insurance policy 11,000

(10) Donation to Prime Minister’s National 

Relief Fund by cheque 10,000

bdkbZ&5
Unit-5

5. fuEufyf[kr vk;ksa ij mn~xe LFkku ij dj dh dVkSrh ds laca/k
esa dkuwu ds D;k izko/kku gSaµ 15

¼d½ ykVjh dk buke
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¼[k½ izfrHkwfr;ksa ij C;kt

¼x½ fdjk;s dk Hkqxrku

What are the provisions of law regarding deduction

of tax at source from the following incomes :

(a) Winning from lottery

(b) Interest on securities

(c) Payment of rent.
vFkok

OR

¼v½ fuEu lwpuk ls foHkkx }kjk /kkjk 244A ds vUrxZr ns; C;kt

dh x.kuk dhft,µ 10

(i) dj fu/kkZj.k o"kZ 2019-20 ds fy, vk; ds 3,00,000

fooj.k ds vk/kkj ij ns;dj tks ns; frfFk

vFkkZr~ 30.9.2019 dks nkf[ky dj fn;k FkkA

(ii) dj dh jkf'k fuEu izdkj pqdkbZ Fkhµ

¼d½ 31.3.2019 rd vfxze dj 2,80,000

¼[k½ /kkjk 140A ds vUrxZr Lo;a dj 20,000

    fu/kkZj.k ij dj 30.9.2019 dks

(iii) 31.3.2020 dks /kkjk 143(3) ds varxZr 4,00,000

fu;fer dj fu/kkZj.k ij ns; dj

(iv) ek¡x ij pqdk;k x;k dj 1.6.2020 dks 1,00,000

(v) 30.11.2020 dks vihy esa x.kuk fd;k 3,20,000

x;k dj

(vi) 30.11.2020 dks okilh dk vkns'k gqvkA

From the following information compute interest

payable by the department, if any U/S 244A.

(i) Tax due as per return of income 3,00,000

for the assessment year 2020-21

which was filed on the due date

i.e. 30.09.2019.

(ii) The amount of tax was paid as under :

(a) Advance tax upto 31.3.2019 2,80,000

(b) Tax on self assessment U/S 140A 20,000

      on 30.9.2019

(iii) Tax determined on regular assessment 4,00,000

U/S 143(3) on 31.3.2020

(iv) Tax paid (on demand) on 1.5.2020 1,00,000

(v) Tax determined on appeal on 3,20,000

30.11.2020

(vi) Actual refund granted on 30.11.2020.

¼c½ vFkZ n.M yxkus ds lkekU; fl)kar crkb,A 5

Explain the general principles of imposing penalty.
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ED–2044 

B. Com. (Part III) EXAMINATION, 2021 

(Compulsory) 

(Group—I) 

Paper Second 

AUDITING 

Time : Three Hours 

Maximum Marks : 70 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- vads{k.k D;k gS \ vads{k.k ds D;k mís’; gSa \ le>kb,A  

What is Auditing ? What are the objects of Auditing ? 

Explain them.  
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vFkok 

(Or) 

vads{k.k dk;Z izkjEHk djus ds iwoZ D;k&d;k dne mBk, tkus 

pkfg, \ 

What necessary steps should be taken before commencing 

the work of audit ? 

bdkbZ&2 

(UNIT—2) 

2- ßizek.ku vads{k.k dh jh<+ dh gM~Mh gSAÞ dFku dh O;k[;k djrs 

gq, izek.ku ds egRo ij izdk’k Mkfy,A izek.ku vkSj lR;kiu eas 

D;k vUrj gS \ le>kdj fyf[k,A  

“Vouching is the backbone of Auditing.” Discuss the 

importance of vouching in the light of this statement. 

Write down in detail the difference between vouching and 

verification.  

vFkok 

(Or) 

ß,d vads{kd ewwY;kadudrkZ ugha gS] fQj Hkh lEifŸk;ksa rFkk 

nkf;Roksa ds ewY;kadu ls mldk lEcU/k gSAÞ mi;qZDr dFku dks 

rdZ lfgr le>kb, rFkk vko’;d eqdnes ds fu.kZ; dk Hkh 

mYys[k dhft,A  

“An auditor is not valuer and yet he is intimately 

concerned with proper valuation of assets and liabilities.” 
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Discuss the above statement citing some importance legal 

decisions in this respect.  

bdkbZ&3 

(UNIT—3) 

3- dEiuh vads{kd ls D;k vk’k; gS \ ,d dEiuh vads{kd ds 

vf/kdkj] drZO; ,oa nkf;Roksa dh O;k[;kd hft,A  

What do you mean by Company Auditor ? Explain the 

rights, duties and liabilities of company auditors.  

vFkok 

(Or) 

foHkktu ;ksX; ykHk D;k gS \ ykHkka’k forj.k ds lEcU/k esa 

dEiuh vf/kfu;e eas dkSu&dkSu ls izko/kku fd, x, gSa \ 

What is Divisible Profit ? What are various provisions 

made in the Companies Act regarding distribution of 

divident ? Discuss the duties of an auditor in this regard ? 

bdkbZ&4 

(UNIT—4) 

4- d.V dh ‘kadk gksus ij vki dEiuh ds ekeyksa dk vuqla/kku 

djus ds fy, tks izfØ;k viuk,axsa mldh :ijs[kk nhft,A  

Outline the procedure you would adopt if you were 

required to investigate the affairs of a company for a 

suspected fraud.  

vFkok 

(Or) 

lEifŸk;ksa ds lR;kiu dk D;k mís’; gSa \ blds ewY;kadu ds 

lEcU/k esa vads{kd dgk¡ rd mŸkjnk;h gSa \ 
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What is the object of Verification of Assets ? How far is 

the auditor responsible as regard their valuation ?  

bdkbZ&5 

(UNIT—5) 

5- lkekftd vads{k.k D;k gS \ blds mís’;ksa ,oa ykHkksa ij izdk’k 

Mkfy,A  

What is Social Audit ? Throw light on is objects and 

importance.  

vFkok 

(Or) 

izca/k vads{kd ls vki D;k le>rs gSa \ bldh dk;Zi.kkyh dks 

le>kb,A  

What do you understand by Management Audit ? Discuss 

its working methods ? 
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ED–2045 

B. Com. (Part III) EXAMINATION, 2021 

(Group—II : Compulsory) 

Paper First 

INDIRECT TAXES WITH GST 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lhek ‘kqYd ds egRo dk foospuk dhft, ,oa blds izfrdwy 

izHkko crkb;sA  

Discuss the importance of customs duty and bad effects of 

such duty.  

vFkok 

(Or) 

,d Hkkjrh; vk;rd us 5,000 MkWyj dk eky ekpZ] 2020 esa 

vk;kr fd;kA blds lEcU/k esa fuEufyf[kr tkudkjh izkIr gS % 

(i) oLrqvksa ds iSfdax ds O;; 120 MkWyjA 
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(ii) oLrq,sa okilh ;ksX; dUVsuj esa Hksth xbZ]ftudk ewY; 400 

MkWyj FkkA 

(iii) chek izhfe;e 50 MkWyjA 

(iv) leqnzh HkkM+k 160 MkWyjA 

(v) vk;krd us nyky dks 100 MkWyj deh’ku fn;k] ftlus 

;g lkSnk djok;k gSA  

(vi) ,d MkWyj dh fofue; nj ` 42.38 gSA  

(vii) lhek ‘kqYd 10% ,oa 10% lkekftd dY;k.k vf/kHkkj 

yxrk gSA  

(viii) Hkkjr esa bl izdkj ds eky ij 12% th- ,l- Vh- yxrk 

gSA  

vk;frr oLrq dk dj fu/kkZj.k ewY; ,oa ns; lhek ‘kqYd 

dh jkf’k Kkr dhft,A  

An Indian importer import raw materials for 5,000 dollars 

in March 2020, following informations are available : 

(i) Packing charges of goods 120 dollars.  

(ii) Goods were stuffed in container (returnable) price of 

container is 400 dollars.  

(iii) Insurance premium 50 dollars.  

(iv) Sea freight 160 dollars.  

(v) Importer had paid commission of 100 dollars to a 

broker who arranged the transaction.  

(vi) Dollar rate is ` 42.38 = 1 dollar.  

(vii) Basic customs duty is 10% and social welfare 

surcharge @ 10%.  

(viii) 12% GST is payable for such goods in India.  

Find out the assessable value of imported goods and 

customs duty payable.  
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bdkbZ&2 

(UNIT—2) 

2- NŸkhlx<+ vkcdkjh vf/kfu;e ds laf{kIr bfrgkl ,oa mís’;ksa dk 

o.kZu dhft,A  

Discuss the brief history and objectives of C. G. Excise 

Act.  

vFkok 

(Or) 

,d Hk.Mkj x`g ls fuEufyf[kr eknd inkFkZ fuxZfer fd;s x;s % 

(i) czk.M fefyVªh laxBu dSUVhu dks 1]370 izwQ yhVjA 

(ii) lhek lqj{kk cy ds vf/kd`r dSUVhu dks je 8]035 izwQ 

yhVjA 

(iii) czk.Mh jk;iqj ds ykblsal/kkjh O;kikjh dks 20]700 izwQ 

yhVjA 

(iv) fons’kh ‘kjkc ds Bsdsnkj dks ch;j 1]800 cYd yhVjA 

(v) jklh ¼70-0 ;w- ih-½ 10]000 izwQ yhVjA 

(vi) jktukanxkao ds ykblsal/kkjh O;kikjh dks je 12]000 izwQ 

yhVjA 

NŸkhlx<+ vkcdkjh vf/kfu;e ds varxZr laxzfgr vkcdkjh 

‘kqYd dh x.kuk dhft,A ;fn eknd inkFkks± dk fuxZeu 

o”kZ 2019&20 essa gqvk gksA 

The following intoxicants were issued from a warehouse : 

(i) Brandy to military canteen 1,370 proof liters.  



 [ 4 ]  ED–2045 

(ii) Rum to authorised canteen of B. S. F. 8,035 proof 

liters. 

(iii) Brandy to licence holder dealer of Raipur, 20700 

proof liters. 

(iv) Beer to contractors, 1,800 proof liters.. 

(v) Rassi (70.0 U. P.) 10,000 proof liters. 

(vi) Rum to licence holder dealer of Rajnadgaon 12,000 

proof liters. 

Calculate the amount of excise duty under 

Chhattisgarh Excise Act if intoxicants were issued in 

the year 2019-20. 

bdkbZ&3 

(UNIT—3) 

3- th- ,l- Vh- ls mRiUu dfBukb;ksa dk foospu dhft, ,oa 

lek/kku gsrq lq>ko nhft,A  

Point the difficulties arise due to GST and make 

suggestions to resolve them.  

vFkok 

(Or) 

th- ,l- Vh- ifj”kn ds xBu ,oa dk;ks± dh foospuk dhft,A  

Describe the constitution of GST Council and discuss its 

functions.  

bdkbZ&4 

(UNIT—4) 

4- eky ,oa lsokdj vf/kfu;e esa fdu iwfrZdrkZvksa ds fy, iath;u 

djkuk vfuok;Z gS \ iath;u dh fof/k le>kb;s ,oa crkb;s 

iath;u dc jí fd;k tk ldrk gS \ 
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When the registration is compulsory for suppliers under 

GST Act ? When the procedure of registration 

circumstances of cancellation the registration ?  

vFkok 

(Or) 

Hkkjrh; jsyos }kjk ;k=h ,oa eky ifjogu ls izkIr HkkM+k ,oa 

fdjk;k jkf’k dh dj eqDr o dj;ksX; jkf’k Kkr dhft,A jsyos 

HkkM+s ij 5% th- ,l- Vh- ns; gS % 

(i) lkekU; Js.kh ls ;kf=;kas dk fdjk;k  ` 5 djksM+ 

(ii) ‘k;u;ku Js.kh ;s ;kf=;ksa dk fdjk;k  ` 3 djksM+ 

(iii) izFke Js.kh ,;j daMh’kUM ;kf=;ksa dk fdjk;k  ` 2 djksM+ 

(iv) 2 ,oa 3 Vh;j ,;j daMh’kUM ;kf=;ksa dk fdjk;k  ` 4 djksM+ 

(v) Mkd ,oa iklZy lsok,¡  ` 1 djksM+ 

(vi) isVªksfy;e inkFkZ  ` 8 djksM+ 

(vii) ck<+ izHkkfor {ks=ksa ds jkgr lkexzh  ` 1 djksM+ 

(viii) lekpkj i=&if=dk,¡  ` 6 yk[k 

(ix) nw/k    ` 2.5 djksM+ 

(x) ‘kDdj   ` 5 djksM+ 

(xi) xsgw¡ ,oa dikl  ` 3.5 djksM+ 

(xii) j{kk midj.k  ` 50 yk[k 

(xiii) jklk;fud moZjd  ` 1.8 djksM+ 

Compute taxable and tax free for transport of passengers 

and goods by rail. GST rate applicable @ 5% on taxable 

railway fare and freight : 

(i) General class fare  ` 5 crore 

(ii) Sleeper class fare ` 3 crore 

(iii) 1st class air conditioned coach  ` 2 crore 
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(iv) 2 and 3 tier air conditioned coach ` 4 crore 

(v) Post mails and postal bags freight  ` 1 crore 

(vi) Petroleum products  ` 8 crore 

(vii) Relief materials of the flood affected areas ` 1 crore 

(viii) Newspapers and magazines  ` 60 lakh 

(ix) Milk   ` 2.5 crore 

(x) Sugar   ` 5 crore 

(xi) Wheat and Cotton  ` 3.5 crore 

(xii) Defence and military equipments  ` 50 lakh 

(xiii) Transport of chemical fertilizers  ` 1.8 crore 

bdkbZ&5 

(UNIT—5) 

5- fooj.kh ls D;k vk’k; gS \ th- ,l- Vh- ls lEcfU/kr foojf.k;ksa 

ds izdkj le>kb,A  

What is meant by Return ? Discuss various types of return 

under GST ? 

vFkok 

(Or) 

turk VªkaliksVZ dEiuh ¼iathd`r½ ds fuEufyf[kr lwpuk,¡ iznku 

dh % 

 ekg fnlEcj esa izkIr buiqV~l ,oa iw¡thxr 

eky 

pqdk;k x;k 

dj ¼`½ 

(i) dEI;wVj dk;kZy;hu mi;ksx ds fy, 17,600 

(ii) eky ds ifjogu ds fy, Vªd 88,000 

(iii) O;kikj esa iz;ksx ds fy, eksVj dkj 25,400 

(iv) LVkslZ ,oa yqczhdsaV~l ¼vujftLVMZ 

iwfrZdrkZvksa ls½ fjolZ pktZ ds vUrxZr 

turk VªkaliksVZ us dj tek djk;k 4,800 
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(v) iw¡thxr eky ftlds buiqV VSD lfgr iwjs 

ewY; ij kl dh NwV vk;dj ds vUrxZr 

yh xbZ 77,000 

(vi) Lis;j ikV~Zl dEiksft’ku Ldhe ds vUrxZr 

Mhyj ls izkIr fd;s ftlus vyx ls dj 

pktZ ugha fd;k — 

ekg fnlEcj esa mlds }kjk dqy ns; th- ,l- dh jkf’k  

` 2,20,000 gSA Lohd`r buiqV VSDl ØsfMV dh jkf’k crkb;s 

,oa ns;dj Kkr dhft,A  

Janta transport company furnished the following 

information : 

 Inputs and capital goods received 

in December 

Tax Paid 

(`) 

(i) Computers used for office  17,600 

(ii) Truck used for transportation of 

goods  

88,000 

(iii) Motorcar used for business purpose  25,400 

(iv) Stores and lubricants obtained from 

the unregistered supplier on which 

tax has been paid by Janta transport 

on reverse charge basis. 4,800 

(v) Capital goods purchased on which 

depreciation has been taken on full 

value including input tax there on  77,000 

(vi) Spare parts purchased from supplier 

who opted composition scheme and 

the composite tax has been charged.  — 
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Total GST payable for December is ` 2,20,000. Calculate 

allowable input tax credit and tax payable.  
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ED–2047 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group A—Finance Area) 

(Group—III) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- fofŸk; izca/k dh ifjHkk”kk nhft, rFkk blds dk;ks± dks crkb;sA 

Define financial management and discuss its functions. 

vFkok 

(Or) 

fofŸk; fu;kstu D;k gS \ blds fofHkUu ?kVd D;k gS ftudk 

fofŸk; fu;kstu esa /;ku j[kuk pkfg, \ 
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What is financial planning ? What are various factors that 

a financial plan consider ? 

bdkbZ&2 

(UNIT—2) 

2- iw¡th ctV dh ifjHkk”kk nhft, blds {ks= ,oa egRo dh foospuk 

dhft,A 

Define capital budgeting and discuss its scope and 

importance. 

vFkok 

(Or) 

,d ifj;kstuk dh ykxr ` 1]00]000 gS vkSj mldk vo’ks”k 

ewY; ` 20]000 gSA kl o dj ls iwoZ bldh vk; izFke o kZ ls 

ysdj ik¡p o”kZ rd Øe’k% ` 20]000] ` 24]000] ` 28]000]  

` 32]000 rFkk ` 40]000 gSA dj dh nj 50% eku ys vkSj 

lh/kh js[kk i)fr ls kl dkVuk gSA ifj;kstuk dh ys[kkadu nj 

dh x.kuk dhft,A 

A project cost ` 1,00,000 and has scrap value of ` 20,000 

its stream of income before depreciation and taxes during 

the first year through five year is ` 20,000, ` 24,000,  

` 28,000, ` 32,000 and ` 40,000 Assume a 50% tax rate 

and depreciation on straight line basis calculate 

accounting rate for the project. 
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bdkbZ&3 

(UNIT—3) 

3- iw¡th dh ykxr dh ifjHkk”kk nhft,A lafpr vk; dh ykxr D;k 

gksrh gS \ uo fuxZfer lerk va’kksa dh ykxr dSls fu/kkZfjr dh 

tkrh gS \ 

Define cost of capital. What is the cost of retained ? How 

is the cost of new equity issues determined ? 

vFkok 

(Or) 

,Dl fy- us ,d u, mRikn ds fy, vuqeku yxk;k fd bldk 

le&foPNsn fcUnq 2]000 bdkbZ;k¡ gS] ;fn bdkb;ks dks ` 14 izfr 

bdkbZ ij cspk tkrk gSA ykxr ys[kk foHkkx us orZeku esa 

ifjorZu’khy ykxr dk vuqeku ` 9 izfr bdkbZ yxk;k gSA 

fcØh dh 2]500 bdkbZ;ksa vkSj 3]000 bdkbZ;ksa dh ek=k ds fy, 

ifjpkyu yhojst dh x.kuk dhft,A 2]500 bdkbZ;ksa vkSj 3]000 

bdkbZ;ksa ds fcØh dh ek=k ij ifjpkyu yhojst ls vkSj muesa 

vUrj ls vki D;k fu”d”kZ fudkyrs gS \ 

X Ltd. has estimated that for a new product its break-even 

point is 2,000 units. If the item is sold for ` 14 per unit the 

cost accounting department has currently identified 

variable cost of ` 9 per unit. Calculate operating leverage 

at sales volume of 2,500 units and 3000 units. What do 

you infer from the operating leverage at the sales volume 

of 2,500 units and 3,000 units and their difference if any ? 

bdkbZ&4 

(UNIT—4) 

4- iw¡th <k¡ps ds fofHkUu fl)kUr D;k gS \ la{ksi esa O;k[;k dhft,A 

iw¡th <k¡ps ds fu/kkZjd rRoksa dh Hkh O;k[;k dhft,A 
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What are the different theories of capital structure ? 

Explain in brief. Also explain their determinates. 

vFkok 

(Or) 

xksYMu fo;q fy- dh le va’k iw¡th dh ykxr 12% vkSj QeZ dk 

pkyw cktkj ewY; ` 10]00]000 ¼` 10 izfr va’k dh nj ls½ gSA 

izFke o”kZ ds var esa u;s fofu;ksx (I) vtZu (E) rFkk ykHkka’k 

(D) dk ewY; Øe’k% ` 3]40]000] ` 2]75]000 rFkk ` 2-50 izfr 

va’k ekurs gq, n’kkZb, fd ,e- ,e- ekU;rk ds vUrxZr ykHkka’k 

dk Hkqxrku QeZ ds ewY; dks izHkkfor ugha djrk gSA 

Golden View Ltd. has a cast of equity capital of 12% the 

current market value of the firm (v) is ` 10,00,000 (@ ` 

10 per share). Assume values for new investment (I) 

earning (E) and dividends (D) at the end of 1st year as ` 

3,40,000, ` 2,75,000 and ` 2.50 per share respectively 

show under M. M. assumptions the payment of D does 

not affect the value of the firm. 

bdkbZ&5 

(UNIT—5) 

5- dk;Z’khy iw¡th dh vo/kkj.kk dks Li”V dhft, vkSj blds izca/ku 

dh vko’;drk dk o.kZu dhft,A 

Explain the concept of Working capital and discuss the 

need for managing it. 

vFkok 

(Or) 

gkse fyfeVsM dsoy ,d gh oLrq ‘A’ cukus esa ,d gh lkexzh 

‘Y’ iz;qDr gksrh gSA ‘A’ dh izR;sd bdkbZ ds fuekZ.k esa ‘Y’ 

dh 12 bdkbZ;k¡ vko’;d gSA ;g ekurs gq, fd dEiuh izfro”kZ 

15000 bdkbZ;k¡ cukrh gS fd ‘A’ ds fy, ek¡x iwjs o”kZ iw.kZr% 
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fLFkj gS fd ‘Y’ ds fy, vkns’k nsus ij izR;sd ckj ` 200 

ykxr iM+rh gS rFkk fd izfro”kZ  dh j[kko ykxr ` 8 izfr 

bdkbZ gSA vki fuEu ds mŸkj nhft, % 

¼v½ ‘Y’ ds fy, vkfFkZd vkns’k ek=k fu/kkZfjr dhft,A 

¼c½ ml ek=k ij LdU/k dh dqy ykxr D;k gS \ 

¼l½ izfro”kZ fdruh ckj LdU/k ds fy, vkns’k fn;k tk,A 

Home Ltd. manufacture only one product ‘A’ The single 

raw material used in making ‘A’ is ‘Y’. For each unit of 

‘A’ manufactured 12 units of ‘Y’ are required. Assuming 

that the company manufactures 15000 units per annum 

that the demand for ‘A’ is perfectly steady throughout the 

year that it cost ` 200 each time order is placed for ‘Y’ 

and that earrying cost is ` 8 per unit of ‘Y’ per year. You 

are required to answer the following : 

(a) Determine the economic order quantity of ‘Y’. 

(b) What is total cost of inventory for the quantity ? 

(c) How many time per year would inventory be 

ordered ? 
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ED–2048 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group A—Finance Area) 

Group—III 

Paper Second 

FINANCIAL MARKET OPERATIONS 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- eqnzk cktkj dks ifjHkkf”kr dhft,A eqnzk cktkj ds mís’; rFkk 

egRo dks Li”V dhft,A 

Define money market. Explain its object and importance. 
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vFkok 

(Or) 

cV~Vk x`g ,oa Lohd`r x`g esa vUrj dhft;sA Hkkjr esa ,Sls x`g 

yksdfiz; D;ks ugha gS \ 

Distinguish between ‘discount house’ and acceptance 

house. Why are these houses not popular in India ? 

bdkbZ&2 

(UNIT—2) 

2- LVkWd ,Dlpsat dks ifjHkkf”kr dhft,A Hkkjrh; LVkWd ,Dlpsat 

}kjk iznŸk lsokvksa dk o.kZu dhft,A 

Define stock exchange. Describe the services rendered by 

an Indian Stock Exchange. 

vFkok 

(Or) 

izkFkfed cktkj ,oa f}rh;d cktkj ij ,d fuca/kkRed ys[k 

fyf[k;sA 

Write an essay on primary market and secondary market. 

bdkbZ&3 

(UNIT—3) 

3- izfrHkwfr vuqca/k ,oa fu;ked dkuwu dh foLrkj ls le>kb;s rFkk 

blds vUrxZr fuos’kdks dh lqj{kk ds izko/kkuksa dks crkb;sA 

Explain securities contract and regulation Act, and 

Describe provisions for protecting the investors. 
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vFkok 

(Or) 

lsch ,d Lora=] ,dkf/kdkjh ,oa ‘kfDr’kkyh fu;ked laLFkk gS] 

ftlesa fuos’kdks dk fo’okl gSA bl dFku dks Li”V dhft,A 

The SEBI is a single, highly visible and independent 

organisation in which investors have trust ? Explain. 

bdkbZ&4 

(UNIT—4) 

4- izfrHkwfr nyky fdls dgrs gSa \ budh D;k ;ksX;rk,¡ gS \ bldh 

fØ;kvksa ds fu;eu rFkk dk;Z O;ogkj ij ykxw vkpkj lafgrk dks 

fyf[k;sA 

What do you mean by stock broker ? What are their 

qualifications ? Also describe code of conduct application 

on their functions. 

vFkok 

(Or) 

fuEufyf[kr ds dk;Z crkb;s % 

(i) laLFkkxr fofu;ksDrk 

(ii) cktkj fuekZrk 

(iii) fons’kh nyky 

Describe the functions of the following : 

(i) Institutional investors 

(ii) Market makers 

(iii) Foreign Broker 
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bdkbZ&5 

(UNIT—5) 

5- foŸkh; lsokvksa ls D;k vk’k; gS \ foŸkh; lsokvksa ds oxhZdj.k 

,oa {ks= dk mYys[k dhft,A 

What is meant by financial services ? Discuss the 

classification and scope of financial services. 

vFkok 

(Or) 

ØsfMV jSfVax ls D;k vk’k; gS \ jsfVax dh izHkkfor djus okys 

dkSu&dkSu ls dkjd gS \ 

What do you mean by credit rating ? What are the factors 

which affect the credit rating ? 
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ED–2050 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group—B : Marketing Area) 

Paper Second 

INTERNATIONAL MARKETING 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- vUrjkZ”Vªh; foi.ku ls D;k vk’k; gS \ vUrjkZ”Vªh; foi.ku dh 

vko’;drk ,oa egRo dks crkb,A 

What do you mean by International Marketing ? Discuss 

the need and importance of International Marketing. 

vFkok 

(Or) 

vUrjkZ”Vªh; foi.ku ij vkfFkZd] lkaLd`frd] jktuhfrd ,oa 

dkuwuh okrkoj.k fdl izdkj izHkko Mkyrk gS \ le>kb;sA 
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How does economic, cultural, political and legal 

environment effect International Marketing ? Explain. 

bdkbZ&2 

(UNIT—2) 

2- vUrjkZ”Vªh; ewY; dSls fu/kkZfjr fd;k tkrk gS \ vUrjkZ”Vªh; 

foi.ku ds ewY; fu/kkZj.k dks izHkkfor djus okys ?kVdksa dks 

crkb;sA 

How to determine international price ? State the factors 

affecting to pricing in International Marketing. 

vFkok 

(Or) 

vUrjkZ”Vªh; cktkj ds fy, oLrq fu;kstu ds {ks= dh foLrkj ls 

O;k[;k dhft,A 

Explain in detail the scope of product planning for 

International Marketing. 

bdkbZ&3 

(UNIT—3) 

3- vUrjkZ”Vªh; foi.ku esa lao)Zu dh Hkwfedk dh foospuk dhft,A 

lao)Zu fe .k ds izeq[k la?kVd dkSu&ls gSa \ 

Discuss the role of promotion in International Marketing ? 

What are the major components of promotion mix ? 

vFkok 

(Or) 

foKkiu dk D;k vFkZ gS \ blds mís’;ksa ds ckjs esa crkb,A 

foKkiu fdl izdkj mi;ksxh gS] le>kb;s \  

What is the meaning of advertising ? Explain its 

objectives. Explain how advertising is useful. 
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bdkbZ&4 

(UNIT—4) 

4- vUrjkZ”Vªh; O;kikj esa forj.k ek/;e ls D;k vk’k; gS \ 

vUrjkZ”Vªh; forj.k okfgdkvks ds p;u dks izHkkfor djus okys 

?kVdks dks crkb;sA 

What do you mean by distribution channel in 

International Trade ? State the factors affecting to 

International Distribution Channels. 

vFkok 

(Or) 

,d fons’kh foØ; vfHkdŸkkZ dk p;u djrs le; fdu&fdu 

ckrksa ij fopkj djsaxs \ 

What are the points that you would keep in mind while 

selecting a foreign sales agent ? 

bdkbZ&5 

(UNIT—5) 

5- Hkkjr dh orZeku vk;kr&fu;kZr uhfr dh vkykspukRed O;k[;k 

dhft,A 

Explain critically the current Indian EXIM Policy. 

vFkok 

(Or) 

Hkkjr esa fu;kZr O;kikj esa tks lgk;rk ,oa izksRlkgu fn, tkrs gSa 

mudh O;k[;k dhft,A 

Discuss the main documents used in Export Trade. 
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ED–2052 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group—C) 

(Commercial Area) 

Paper Second 

ESSENTIALS OF e-COMMERCE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

Note : Attempt any two part from each question. All 

questions carry equal marks. 

Unit—I 

1. (a) Explain the benefits of e-Commerce. 

(b) Explain the management issues relating to e-

Commerce. 

(c) What do you meant by secure electronic transaction ? 

Explain in details. 

Unit—II 

2. (a) Explain the consumer’s shoping procedure on the 

internet in brief. 

(b) Write benefits and impact of e-Commerce on travel 

industry. 

(c) Write brief notes on Real State Market. 
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Unit—III 

3. (a) What is B2B Model ? Write the application of B2B. 

(b) Explain the benefits of B2B on procurement re-

engineering. 

(c) Explain the marketing issues in B2B model. 

Unit—IV 

4. (a) Explain the application in governance. 

(b) Explain the concept of government to business and 

business to government. 

(c) Explain the e-governance models. 

Unit—V 

5. (a) What is media model ? Explain in brief. 

(b) Explain the different emerging model in India. 

(c) Explain the security and legal aspects of e-

Commerce. 
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ED–2053 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group—D) 

(Money, Banking and Insurance Area) 

Paper First 

FUNDAMENTAL OF INSURANCE 

Time : Three Hours 

Maximum Marks : 75 

Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- chek dh ifjHkk”kk nhft,A bldh fo’ks”krk,¡ crkb;s rFkk 

vk/kqfud ;qx esa bldh vko’;drk crkb;sA 

Define Insurance. Discuss its characteristics and need in 

modern age. 

vFkok 

(Or) 

chek ls D;k vk’k; gS \ blds fofHkUu izdkjksa dk o.kZu dhft,A 

What do you mean by Insurance ? Explain the various 

types of insurance. 
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bdkbZ&2 

(UNIT—2) 

2- vfHkdŸkkZ dkSu gS \ ,d lQy chek vfHkdŸkkZ ds xq.kksa dk o.kZu 

dhft,A 

Who is an agent ? Discuss the qualities of a successful 

Insurance Agent. 

vFkok 

(Or) 

,d vfHkdŸkkZ ds oS/kkfud fLFkfr dh foospuk dhft,A 

Discuss the legal position of an agent. 

bdkbZ&3 

(UNIT—3) 

3- chek ,ts.V ds ykblsal ysus vkSj ikfjJfed ls lEcfU/kr 

oS/kkfud fu;eksa dk o.kZu dhft,A 

Describe the laws relating to the licensing and 

remuneration of an Insurance Agent. 

vFkok 

(Or) 

chek ,tsUV cuus dh izfØ;k dk o.kZu dhft,A 

Explain the procedure for becoming an insurance agent. 

bdkbZ&4 

(UNIT—4) 

4- Hkkjrh; lk/kkj.k chek fuxe rFkk bldh lgk;d dEifu;ksa dh 

laxBukRed lajpuk dks le>kb;sA 

Explain the organizational structure of the general 

insurance corporation of India and its subsidiaries. 
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vFkok 

(Or) 

chek dEiuh dh izksQkby ls vki D;k le>rs gSa \ bldh 

Hkwfedk dh O;k[;k dhft,A 

What do you understand by Insurance Company Profile ? 

Explain its role. 

bdkbZ&5 

(UNIT—5) 

5- leqnzh chek ls vki D;k le>rs gSa \ leqnzh chek vuqca/k ds 

vko’;d rRoksa dks le>kb;sA 

What do you mean by Marine Insurance ? Explain the 

essential elements of marine insurance contract. 

vFkok 

(Or) 

lkekU; chek D;k gS \ lkekU; chek ds fl)kUrksa dks lfoLrkj 

le>kb;sA 

What is General Insurance ? Explain in detail the 

principles of general insurance. 
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ED–2054 

B. Com. (Part III) EXAMINATION, 2021 

(Optional Group : D) 

(Money, Banking and Insurance Area) 

Paper Second 

MONEY AND BANKING SYSTEM 

Time : Three Hours 

Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- eqnzk D;k gS \ fu;ksftr vFkZO;oLFkk esa eqnzk ds egRo dk la{ksi 

esa o.kZu dhft,A 

What is money ? Explain briefly the importance of money 

in a planned economy. 

vFkok 

(Or) 

eqnzk dh iwfrZ ls vki D;k le>rs gSa \ mlds egRo dks 

le>kb;sA 

What do you understand by supply of money ? Explain its 

importance. 
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bdkbZ&2 

(UNIT—2) 

2- lgdkjh vf/kdks”kksa ds D;k dk;Z gS \ Hkkjrh; vFkZO;oLFkk esa 

buds egRo dk foospuk dhft,A 

What are the functions of co-operative banks ? Explain 

their importance in Indian Economy. 

vFkok 

(Or) 

vk/kqfud cSafdax O;oLFkk ij ,d ys[k fyf[k,A 

Write an essay on modern Banking System. 

bdkbZ&3 

(UNIT—3) 

3- cSadksa ds eq[; dk;Z D;k gS \ fdlh ns’k ds vkfFkZd fodkl esa 

cSad fdl izdkj lgk;d gks ldrs gS \ 

What are the main functions of banks ? How can the 

banks be helpful in the economic development of a 

country ? 

vFkok 

(Or) 

Hkkjr esa cSadksa ds lkekftd fu;a=.k ij ,d laf{kIr fucU/k 

fyf[k;sA 

Write a short essay on social control of Banks in India. 

bdkbZ&4 

(UNIT—4) 

4- Hkkjr esa lgdkjh cSafdax us okafNr Lrj ij lQyrk D;ksa ugha 

ik;h gS \ blds dkj.kksa dk vkykspukRed ijh{k.k dhft,A 
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Critically examine the reason why co-operative banking 

in India has not so far succeeded to the desired extent. 

vFkok 

(Or) 

Hkkjr esa {ks=h; xzkeh.k cSadksa ds mís’;ksa vkSj dk;ks± dh foospuk 

dhft,A 

Explain the objectives and works of Regional Rural 

Banks. 

bdkbZ&5 

(UNIT—5) 

5- fjtoZ cSad vkWQ bf.M;k ds laxBu ij ,d fVIi.kh fyf[k,A 

Write a note on the organisation of RBI. 

vFkok 

(Or) 

baVjusV cSafdax iz.kkyh ls vki D;k le>rs gSa \ bldh fo’ks”krk,¡ 

crkb;sA 

What do you mean by internet Banking System ? Cast 

light on its importance and protective measures. 
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ED–2055 

B. Com. (Part III) EXAMINATION, 2021 

COMPUTER APPLICATION 

Paper First 

(Programming in Visual Basic) 

Time : Three Hours 

Maximum Marks : 50 

Note : Attempt any two part from each question. All 

questions carry equal marks. 

Unit—I 

1. (a) Why visual basic is called event driven 

programming language ? 

(b) What is the difference between msgbox and input 

box ? 

(c) Write a visual basic program for sum of two nos. 

Unit—II 

2. (a) Differentiate between list box and combo box. 

(b) Explain different branching statement used in visual 

basic. 

(c) What is array ? Explain different types of array. 
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Unit—III 

3. (a) Write program in Vb using function for swapping 

two numbers. 

(b) What is error ? Explain different types of error. 

(c) Write short notes on any two of the following : 

(i) Watch window 

(ii) Immediate Window 

(iii) Local window 

Unit—IV 

4. (a) Differentiate between picture box and image box. 

(b) Explain file organisation in Vb. 

(c) Write a visual basic program using picture box 

control and show the result. 

Unit—V 

5. (a) Write steps for connecting ADO. 

(b) How report is generated ? Write steps for data 

report. 

(c) Differentiate between ADO and RDO. 
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ED–2056 

B. Com. (Part III) EXAMINATION, 2021 

COMPUTER APPLICATION 

Paper Second 

(System Analysis, Design and MIS) 

Time : Three Hours 

Maximum Marks : 50 

Note : Attempt any two part from each question. All 

questions carry equal marks. 

Unit—I 

1. (a) Write the definition and elements of system. 

(b) Explain the role of system analyst. 

(c) What is MIS organization ? Describe the system 

development life cycle. 

Unit—II 

2. (a) Discuss about the fact analysis using in system 

analysis. 

(b) Explain about the tools using for information 

gathering. 

(c) Write short notes on the following : 

(i) DFD 

(ii) Decision tree 
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Unit—III 

3. (a) Discuss the process of design methodologies. 

(b) Explain how to prepare form design. 

(c) Discuss the use of software maintenance in system 

implementation. 

Unit—IV 

4. (a) Discuss need and characteristics of MIS.  

(b) Explain that database use as future of MIS. 

(c) Discuss the structure of MIS. 

Unit—V 

5. (a) Explain how to MIS works. 

(b) Write the difference between TPS and MIS. 

(c) Write short notes on the following : 

(i) Adaptive system 

(ii) Business function information system 
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